Jli

SOLARWORLD

S’
REALVALUE

Mounting Structure and Accessories

Valid for 2015 or until further notice

Page 1



Sunfix Mounting Components

Item Part Nr Description
1 TD5151 Fix Plus 1-5151 mm
2 TD3131 Fix Plus 1-3131 mm
3 SK0135 Plus Connect 1 (for joining TD5151)
4 SK0148 Plus Connect UNI (for joining TD5151)
5 SA0417 Module Clamp 33 mm
6 SA0415 Edge Piece 32.4 mm
7 SA0236 Module Clamp 31 mm (used for old on-grid modules)
8 SA0215 Edge Piece 30.5 mm (used for old on-grid modules)
9 SA0174 Module Clamp 34 mm (used for Off-grid modules)
10 SA0175 Edge Piece 33.5 mm (used for Off-grid modules)
11 SK0142 X-Clamp
12 SK0145 Short Bolt M8x16
13 SK0147 Short Bolt M8x24
14 SA0173 Fix Sun
15 SK0372 Functional Grounding A
16 SA0595 End caps for Fixplus 1
17 SA0172 Cable clip for 2 cables (for FixPlus profiles)
18 SA5493 Clip with cable tie (for module flange)

Ji

SOLARWORLD

S’
REALVALUE

Page 2



Jlii

SOLARWORLD

REALVALUE

Sunfix Angle/Double Flange Mounting Components

Item Part Nr Description
1 SK0119* Double Flange Top
2 SK0146* Double Flange Lock bolt M8x30
3 SK5012 Flange Nut M8
4 SK0115%* Double Flange M10
5 SK5017 Flange Nut M10
6 SA0044 Hanger Bolt M10 Seal
7 SK0121 Hanger Bolt M10x210
8 SK0820 Hanger Bolt M10x190 (pre-assembled with seal and nuts)
9 SK0145 Short Bolt M8x16
10 SA0173 Fix Sun
11 SK0113 M10 Angle Flange
12 SK0207 Angle adapter
13 SK0361 Ejot Befest. JZ3-SB-8x64/50 (pre-assembled)
14 SK0363 Ejot Befest. JZ3-SB-8x100/50 (pre-assembled) )

* Not standard stock item, available on request

Doubtlj flangeOI L/Angle flange Ejot s_elf tapping
assembly (wood) assembly (wood) ((QILISSSGJ[(;???)

Page 3



)

w‘

Fui ;LOLAR
» A
4

Sunfix Tiled Roof Mounting Components (Roof Hook)

Item Part Nr Description
1 SD0031 Max roof hook 0-24
2 SD0028 Medium roof hook 90-24
3 SD0066 Adjustable roof hook 0
4 SD0067 Adjustable roof hook 90
5 SD0037 Roof Hook Schiefer (Slate)
6 SK5215 Wood Screw 8x100 or
7 SK0128 Wood Screw 6x100
8 SD0064 Adaptor plate medium (80x50x7mm)
9 SA0226 Flange plate with extended adjustability

Ji

SOLARWORLD

S’
REALVALUE

Clamping Solutions

Item Part Nr Description
1 EA0123* S-5-GX 10 MINI (with #10 insert for Kliplock 406)
2 EA0121* S-5-GX 10 STD (with #10 insert for Kliplock 406)
3 EA0124* S-5-GX 50 MINI (with #50 insert for Kliplock 700)
4 EA0122* S-5-GX 50 STD (with #50 insert for Kliplock 700)
5 SK0127 Kalzip Clamp
6 SK0126 Seam Clamp V2A

*Net pricing, no discount applies

(51.00 men) Ny -
ooy 108" _«
S SS  masen el ...
/ N \ Thisetiod Hole ) '/\‘< o A—X Threaced Hole
~{ / \
—
3
| o R W
/ (44.00 mm) | Z1 .
{ N Y M8-1.25 mm f \ 5 “1‘ "'? -~
\ / \ |\ Threaded ( v \ s
\ 077" <\ [ 7 Hole T\ 4 ‘\) ‘ %
= (19.00 mm) \ S T y
(19.00 mm) a
e ‘ ‘ é) 2 ~ ‘ \ b
LY P )
132Nl | 13l ’
~ N (3300 mm) A} \J/ B y N . (33.00 mm) §L¢l‘/ al/ usazsxiemm
fex Flange

215" ~

(55.00 mm)

ME-1.25x16 mm
Hex Flange Bolt M10-1.5¢16 mm

Hex Flange Bolt

200"

M8-125x16 mm 245" -
Hex Flange Bolt (55.00 mm) a




Jlii

REALVALUE

V)
Fu?? ?;LM SoLARWORLD
rm

Sunfix Flat Roof Angle Frame

Item Part Nr Description
1 SA5240 |MS-SFP 15H AL - Flat-roof frame 15° horizontal
2 SA5243 |MS-SFP A 15V AL - Flat-roof frame 15° vertical
3 SA5246 [MS-SFA BRACE UNI - Stiffening brace for SA5240

*20/30 degree available on request

Contact Details
Contact: Paul/Heinz/Nasasha
Tel Office: 011 0744533
Tel Cell: 0834350297/083417 4940
Email: fcsolar@mweb.co.za
Web: www fullcirclesolar.co.za

Page 5



